

INFUSION THERAPY

PERFUSION SETS

Item Code	Brand	Product Specification	Box Pack
D PLUS ECO – A ECONOMY RANGE OF PERfusion SETS			
IT-20101	D Plus - Eco NV	Infusion Set, Non-Vented Small Drip Chamber, Fluid Filter, Tube, Length 1500 MM, Small Flow Control Roller Clamp, Latex Tube, Luer Slip Adapter, 21" G Needle, HM Pack	40 * 50 = 2000 Pcs
IT-20102	D Plus - Eco NV	Infusion Set, Non-Vented Small Drip Chamber, Fluid Filter, Tube, Length 1500 MM, Small Flow Control Roller Clamp, Latex Tube, Luer Slip Adapter, Without Needle, HM Pack	40 * 50 = 2000 Pcs
IT-20103	D Plus - Eco V	Infusion Set, Vented, Small Drip Chamber, Fluid Filter, Tube, Length 1500 MM, Small Flow Control Roller Clamp, Latex Tube, Luer Slip Adapter, 21" G*1" Needle, HM Pack	40 * 50 = 2000 Pcs
IT-20104	D Plus - Eco V	Infusion Set, Vented, Small Drip Chamber, Fluid Filter, Tube Length 1500 MM, Small Flow Control Roller Clamp, Latex Tube, Luer Slip Adapter, Without Needle, HM Pack	40 * 50 = 2000 Pcs
D PLUS STD – A STANDARD RANGE OF PERfusion SETS			
IT-20201	D Plus - STD NV	Infusion Set, Non-Vented, Standard Drip Chamber, Fluid Filter, Kink Resistant Tube, Length 1500 MM, Medium Flow Control Roller Clamp, Latex Bulb, Luer Slip Adapter, 21" G*1" Needle, HM Pack	40 * 50 = 1000 Pcs
IT-20202	D Plus - STD NV	Infusion Set, Non-Vented, Standard Drip Chamber, Fluid Filter, Kink Resistant Tube Length 1500 MM, Medium Flow Control Roller Clamp, Latex Bulb, Luer Slip Adapter, Without Needle, HM Pack	40 * 50 = 1000 Pcs
IT-20203	D Plus - STD V	Infusion Set, Vented, Standard Drip Chamber, Fluid Filter, Kink Resistant Tube, Length 1500 MM, Medium Flow Control Roller Clamp, Latex Bulb, Luer Slip Adapter, 21" G*1" Needle, HM Pack	40 * 50 = 1000 Pcs
IT-20204	D Plus - STD V	Infusion Set, Vented, Standard Drip Chamber, Fluid Filter, Kink Resistant Tube, Length 1500 MM, Medium Flow Control Roller Clamp, Latex Bulb, Luer Slip Adapter, Without Needle, HM Pack	40 * 50 = 1000 Pcs
IT-20205	D Plus - STD NV	Infusion Set, Non-Vented, Standard Drip Chamber with Wings, Fluid Filter, Kink Resistant Tube, Length 1500 MM, Medium Flow Control Roller Clamp, Latex Bulb, Luer Slip Adapter, 21" G*1" Needle, Ribbon Pack	24 * 25 = 600 Pcs
IT-20206	D Plus - STD NV	Infusion Set, Non-Vented, Standard Drip Chamber with wings, Fluid Filter, Kink Resistant Tube, Length 1500 MM, Medium Flow Control Roller Clamp, Latex Bulb, Luer Slip Adapter, Without Needle, Ribbon Pack	24 * 25 = 600 Pcs
IT-20207	D Plus - STD V	Infusion Set, Vented, Standard Drip Chamber with wings, Fluid Filter, Kink Resistant Tube, Length 1500 MM, Medium Flow Control Roller Clamp, Latex Bulb, Luer Slip Adapter, 21" G*1" Needle, Ribbon Pack	24 * 25 = 600 Pcs
IT-20208	D Plus - STD V	Infusion Set, Vented, Standard Drip Chamber with wings, Fluid Filter, Kink Resistant Tube, Length 1500 MM, Medium Flow Control Roller Clamp, Latex Bulb, Luer Slip Adapter, Without Needle, Ribbon Pack	24 * 25 = 600 Pcs

Item Code	Brand Name	Product Specification	Box Pack
D PLUS PREMIUM – A PREMIUM RANGE OF PERfusion SETS			
IT-20301	D Plus - Premium NV	Infusion Set, Non-Vented, Big Drip Chamber, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Latex Bulb, Luer Slip Adapter, 21" G*1.5" Needle, Ribbon Pack	20 * 25 = 500 Pcs
IT-20302	D Plus - Premium NV	Infusion Set, Non-Vented, Big Drip Chamber, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Latex Bulb, Luer Slip Adapter, 21" G*1.5" Needle, Paper Pack	20 * 25 = 500 Pcs
IT-20303	D Plus - Premium V	Infusion Set, Vented, Big Drip Chamber, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Latex Bulb, Luer Slip Adapter, 21" G*1.5" Needle, Ribbon Pack	20 * 25 = 500 Pcs
IT-20304	D Plus - Premium V	Infusion Set, Vented, Big Drip Chamber, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Latex Bulb, Luer Slip Adapter, 21" G*1.5" Needle, Paper Pack	20 * 25 = 500 Pcs
IT-20305	D Plus - Premium NV	Infusion Set, Non-Vented, Big Drip Chamber with Wings, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Latex Bulb, Luer Slip Adapter, 21" G*1.5" Needle, Ribbon Pack	20 * 25 = 500 Pcs
IT-20306	D Plus - Premium NV	Infusion Set, Non-Vented, Big Drip Chamber with Wings, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Latex Bulb, Luer Slip Adapter, 21" G*1.5" Needle, Paper Pack	20 * 25 = 500 Pcs
IT-20307	D Plus - Premium V	Infusion Set, Vented, Big Drip Chamber with Wings, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Latex Bulb, Luer Slip Adapter, 21" G*1.5" Needle, Ribbon Pack	20 * 25 = 500 Pcs
IT-20308	D Plus - Premium V	Infusion Set, Vented, Big Drip Chamber with Wings, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Latex Bulb, Luer Slip Adapter, 21" G*1.5" Needle, Paper Pack	20 * 25 = 500 Pcs
IT-20309	D Plus - Premium NV	Infusion Set, Non-Vented, Big Drip Chamber, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Y- Site Injection Port, Latex Bulb, Luer Slip Adapter, 21" G*1.5" Needle, Ribbon Pack	20 * 25 = 500 Pcs
IT-20310	D Plus - Premium NV	Infusion Set, Non-Vented, Big Drip Chamber, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Y- Site Injection Port, Latex Bulb, Luer Slip Adapter, 21" G*1.5" Needle, Paper Pack	20 * 25 = 500 Pcs
IT-20311	D Plus - Premium V	Infusion Set, Vented, Big Drip Chamber, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Y- Site Injection Port, Latex Bulb, Luer Slip Adapter, 21" G*1.5" Needle, Ribbon Pack	20 * 25 = 500 Pcs
IT-20312	D Plus - Premium V	Infusion Set, Vented, Big Drip Chamber, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Y- Site Injection Port, Latex Bulb, Luer Slip Adapter, 21" G*1.5" Needle, Paper Pack	20 * 25 = 500 Pcs
IT-20313	D Plus - Premium NV	Infusion Set, Non-Vented, Big Drip Chamber with Wings, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Y- Site Injection Port, Latex Bulb, Luer Slip Adapter, 21" G*1.5" Needle, Ribbon Pack	20 * 25 = 500 Pcs
IT-20314	D Plus - Premium NV	Infusion Set, Non-Vented, Big Drip Chamber with Wings, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Y- Site Injection Port, Latex Bulb, Luer Slip Adapter, 21" G*1.5" Needle, Paper Pack	20 * 25 = 500 Pcs
IT-20315	D Plus - Premium V	Infusion Set, Vented, Big Drip Chamber with Wings, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Y- Site Injection Port, Latex Bulb, Luer Slip Adapter, 21" G*1.5" Needle, Ribbon Pack	20 * 25 = 500 Pcs
IT-20316	D Plus - Premium V	Infusion Set, Vented, Big Drip Chamber with Wings, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Y- Site Injection Port, Latex Bulb, Luer Slip Adapter, 21" G*1.5" Needle, Paper Pack	20 * 25 = 500 Pcs

Item Code	Brand Name	Product Specification	Box Pack
D PLUS ULTRA– A PREMIUM RANGE OF PERfusion SETS Latex & DEHP Free			
IT-20401	D Plus – Ultra NV	Infusion Set, Non-Vented, Extra Big Drip Chamber, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Y-Connector, Luer Lock, 21" G*1.5" Needle, Paper Pack	20 * 25 = 500 Pcs
IT-20402	D Plus – Ultra V	Infusion Set, Vented, Extra Big Drip Chamber, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Y-Connector, Luer Lock, 21" G*1.5" Needle, Paper Pack	20 * 25 = 500 Pcs
IT-20403	D Plus – Ultra NV	Infusion Set, Non-Vented, Extra Big Drip Chamber, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Y-Connector, Luer Lock, 21" G*1.5" Needle, Ribbon Pack	20 * 25 = 500 Pcs
IT-20404	D Plus – Ultra V	Infusion Set, Vented, Extra Big Drip Chamber, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Y-Connector, Luer Lock, 21" G*1.5" Needle, Ribbon Pack	20 * 25 = 500 Pcs
IT-20405	D Plus – Ultra NV	Infusion Set, Non-Vented, Extra Big Drip Chamber with Wings, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Y-Connector, Rotating Luer Lock, 21" G*1.5" Needle, Paper Pack	20 * 25 = 500 Pcs
IT-20406	D Plus – Ultra V	Infusion Set, Vented, Extra Big Drip Chamber with Wings, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Y-Connector, Rotating Luer Lock, 21" G*1.5" Needle, Paper Pack	20 * 25 = 500 Pcs
IT-20407	D Plus – Ultra NV	Infusion Set, Non-Vented, Extra Big Drip Chamber with Wings, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Y-Connector, Rotating Luer Lock, 21" G*1.5" Needle, Ribbon Pack	20 * 25 = 500 Pcs
IT-20408	D Plus – Ultra V	Infusion Set, Vented, Extra Big Drip Chamber with Wings, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Y-Connector, Rotating Luer Lock, 21" G*1.5" Needle, Ribbon Pack	20 * 25 = 500 Pcs
D PLUS Micro– A RANGE OF PERfusion SETS with Micro Drip Chamber			
IT-20501	D Plus – Micro NV	Infusion Set, Non-Vented, Micro Drip Chamber, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Latex Bulb Adapter, 21" G*1.5" Needle, Ribbon Pack	20 * 25 = 500 Pcs
IT-20502	D Plus – Micro V	Infusion Set, Vented, Micro Drip Chamber, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Latex Bulb Adapter, 21" G*1.5" Needle, Ribbon Pack	20 * 25 = 500 Pcs
IT-20503	D Plus – Micro NV	Infusion Set, Non-Vented, Micro Drip Chamber, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Y- Site Injection Port, Latex Bulb Adapter, 21" G*1.5" Needle, Ribbon Pack	20 * 25 = 500 Pcs
IT-20504	D Plus – Micro V	Infusion Set, Vented, Micro Drip Chamber, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Y- Site Injection Port, Latex Bulb Adapter, 21" G*1.5" Needle, Ribbon Pack	20 * 25 = 500 Pcs
IT-20505	D Plus – Micro NV	Infusion Set, Non-Vented, Micro Drip Chamber, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Y- Site Injection Port, Latex Bulb Adapter, 21" G*1.5" Needle, Ribbon Pack	20 * 25 = 500 Pcs
IT-20506	D Plus – Micro V	Infusion Set, Vented, Micro Drip Chamber, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Y- Site Injection Port, Latex Bulb Adapter, 21" G*1.5" Needle, Ribbon Pack	20 * 25 = 500 Pcs

Item Code	Brand Name	Product Specification	Box Pack
D PLUS Micro – A RANGE OF PERfusion SETS with Micro Drip Chamber			
IT-20507	D Plus – Micro NV	Infusion Set, Non-Vented, Micro Drip Chamber, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Y- Site Injection Port, Luer Lock, 21" G*1.5" Needle, Ribbon Pack	20 * 25 = 500 Pcs
IT-20508	D Plus – Micro V	Infusion Set, Vented, Micro Drip Chamber, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Y- Site Injection Port, Luer Lock, 21" G*1.5" Needle, Ribbon Pack	20 * 25 = 500 Pcs
IT-20509	D Plus – Micro NV	Infusion Set, Non-Vented, Micro Drip Chamber with Wings, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Y- Site Injection Port, Rotating Luer Lock, 21" G*1.5" Needle, Ribbon Pack	20 * 25 = 500 Pcs
IT-20510	D Plus – Micro V	Infusion Set, Vented, Micro Drip Chamber with Wings, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Y- Site Injection Port, Rotating Luer Lock, 21" G*1.5" Needle, Ribbon Pack	20 * 25 = 500 Pcs
D PLUS Flo-Reg – A RANGE OF PERfusion SETS with Dial Flow Regulator			
IT-20601	D Plus – Flo-Reg NV	Infusion Set, Non-Vented, Big Drip Chamber, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Flow Regulator, Y- Site Injection Port, Luer Lock, 21" G*1.5" Needle, Paper Pack	12 * 25 = 300 Pcs
IT-20602	D Plus – Flo-Reg V	Infusion Set, Vented, Big Drip Chamber, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Flow Regulator, Y- Site Injection Port, Luer Lock, 21" G*1.5" Needle, Paper Pack	12 * 25 = 300 Pcs
IT-20603	D Plus – Flo-Reg NV	Infusion Set, Non-Vented, With Extra Big Drip Chamber with Wings, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Flow Regulator, Y- Site Injection Port, Rotating Luer Lock, 21" G*1.5" Needle, Paper Pack	12 * 25 = 300 Pcs
IT-20604	D Plus – Flo-Reg V	Infusion Set, Vented, With Extra Big Drip Chamber with Wings, Fluid Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Flow Regulator, Y- Site Injection Port, Rotating Luer Lock, 21" G*1.5" Needle, Paper Pack	12 * 25 = 300 Pcs
D PLUS Onco – A RANGE OF PERfusion SETS for Oncology Treatments			
IT-20701	D Plus – Onco NV	IV Infusion Set, Non-Vented, With Extra Big Drip Chamber with Wings, 0.2µm Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Flow Regulator, Y- Site Injection Port, Rotating Luer Lock, With / Without Needle, Paper Pack	12 * 20 = 240 Pcs
IT-20702	D Plus – Onco V	IV Infusion Set, Non-Vented, With Extra Big Drip Chamber with Wings, 0.2µm Filter, DEHP Free Non-Kinking Tube, Length 1500 MM, Big Flow Control Roller Clamp, Flow Regulator, Y- Site Injection Port, Rotating Luer Lock, With / Without Needle, Paper Pack	12 * 20 = 240 Pcs